Third Declension Forms: Tic/ti and Tic/11

Note the differences between tig/1i (who?/what?) and 1ic/T1 (anyone/thing):

who? what? anyone anything
m/f n m/f n
nom sg '[{g i LLS 1
gen sg TiVOC 1voC TLVOC 1IvOC
dat sg Tyt vt v i
acc sg '[iV(} i nvd 1
nom pl TiVEC iva TLVES va
gen pl TV V@V VOV VOV
dat pl ip1(v) o1(v) Mpoi(v) 1ot (v)
acc pl TLvag iva TVAG va
™~ v~ - = e -
ALWAYS accents iota NEVER accents iota

Note: the root is *11v, and we add the normal 3™ declension endings to the root. We *see* what we
expect, except for the following forms in red:

nom sg TIC L TIC T

gen sg T1IVOC TIVOC T1IVOC T1VOC
dat sg Tivi Tivi TV TV

acc sg Tiva Tl TV Tl

nom pl TIVEC Tiva TLVES Tva
gen pl TIVWV TIVWV TIVQOV TIVOV
dat pl Tio1(v) Tio1(v) T151(v) 1101 (v)
acc pl TLVOC Tiva TIVAG VA

Ti¢ : *1iv + ¢ (v drops before o) 2> Tig
Ti: *Tiv + - > 1l (reason for loss of nu is unexplained)
Tiot : *1iv + o1 (v drops before o) 2 Tior
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